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1. Which of the following instrument is used
for recording the electrical activity of

the brain?

(A) ECG
(B) EMG
(C) PCG
(D) EEG

2. Whatterm denotes the negative and positive
evaluations an individual makes about the self?
(A) Self-esteem
(B) Self-efficacy
(C) Self-centeredness
(D) Self-involvement

3. According to Kolesnik what is the
reorganisation of concept?
(A) Behaviour
(B) Words
(C) Thinking
(D) Problems

4. Which measurements of body

composition are based on the assumption
that density and specific gravity of lean tissue is
greater than that of fat tissue?

(A) Hydrostatic weighing
(B) Body Mass Index
(C) Electro Biography
(D) Anthropometry

1. Tvx @ T2 A @pfes Ffwes
(TPY 4G Geff I F ?
(A) ECG/3fifs
(B) EMG /3 «wfe
(C) PCG/Tiffe
(D) EEG /33

2. @I == e e 7=IF @feans 93
BSA6F T @R 2

(A) ST
(B) F-FrIfe!
(C) SISHFo]
(D) F~&el

3. (AT S QRN 7510 2
(A) =B
(B) =<1
(C) fom
(D) =eml

4. <NAETS A @I AT Ty Al e
(lean tissue) g '8 AR @y B o119 (fat
tissue) (AT @, G2 AN Tolg fTSa et 2

(A) TEGPHIHF e
(B) 3f® = 3 0ew
(C) awyfos Gt

(D) Tolrgs
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5. Select the test which is known as Minimal
Strength test.
(A) Kraus-Weber test
(B) Gross-Max test
(C) Barrow General Motor Ability test
(D) AAPHER Motor Fitness test

6. Motor educability—*the ability to develop
high skill quickly” depends on the combinition of
(I) Neuromuscular Coordination
(II) Effort consistency
(III) Subject’s age
(IV) Subject’s sex
Codes:

(A) (I) and (IV) only

(B) (II), (IIT) and (IV) only
(C) (D), (ID), (I1I) and (IV)
(D) (1), (IV) and (IT) only

7. Match List-I with List-II and select the
correct answer from the codes given below:
List-I (Test) List-1I (Purpose)
(a) Sit and Reach (1) measure shoulder

test flexibility.
(b) Back-Scratch (i1)) measure dynamic
test balance.
(¢) Lumbar stability (iii) measure hip and
test low back flexibility.
(d) Functional reach (iv) measure the
test endurance of the
trunk muscles.
Codes:

(@ b (© (@
(A) Gy @@ Q) @)
B) @) aG) @ Gv)
©) @Gv) @) G @
O O G G Gv)

X-4

5. rew #fe o 2o sifabe A
5 e |
(A) FICH-SRAR AT
(B) aP1-TCA(ms oI Fr
(C) NI (ST 5 Iy Sror!
(D) S @I REGeTT Srels!

6. (N5 FRrwIcIare! Tidie o T wwel
IR el et @ e Sea
a s
(1) FNSENPREE e
(1) 2o RiEFel
(1) 3fe= T
(V) Jsfe= formt
(T3
(A) &g (1) @R (IV)
(B) &<&g (1I), (IIT) @3k (IV)
(C) (D), (ID), (III) @3% (IV)
(D) @ETg (D), (IV) @3k (1I)

7. OIferE-I-a37 AL ©fFF-I (A @3-
e @rest (@ AT Teq [

JPe
ifere- () Sl (STe)
(a) P16 @R 75 2190 (i) Fid Twarre!
AT |
(b) AWFTZI 21 (i) sfeReT Sy
AT |
(c) oo FfeRee (i) og g3z fam
A IF AT
AT |
(d) FIEF TNET= (iv) J& Rz eTe!
A SAfawol 5 |
(TS
(@ () © @
(A) (i) (1) Gv) (i)
(B) (i) Gi) (1) (@Gv)

(©) Gv) @) () @
D) ) G (i) @GQv)



8. Hicks Badminton test consists of three items.
Identify the test items from the options given
below:

(I Standing backward jump
(IT) Clear test

(IIT) Smash test

(IV) Shuttle run test

(V) Strategy test

Choose the right answer from the options
give below:

Codes:
(A) (D), dI) and (IV)
(B) (II), (III) and (V)
(©) (D, D) and (V)
(D) D), (III) and (IV)

9. Match List-I with List-II and select the
correct option using codes given below:

List-1 List-11
(a) Penny Cup (i) Newton motor
ability test
(b) Scrambling method (ii) Scottmotor ability
test
(c) Zigzagrun (iii)) Knox Basketball
test

(d) Obstacle race (iv) Barrow motor

ability test

Codes:

@ b © (@
(A) @) @G)  3dv) @)
B) @Gv) Gi) G (@
© @) @) (Gv) (i)
D) @ Gy Gi)  (v)
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e rel Remel (@ AR SiRGRef e
e ¢

(I) wifew e e s
(1) A= s
(IIT) =131 2/l
(IV) *5a qie A1
(V) & oIS
ooa a1 (A AT Taa 15 e ¢
(T S
(A) (D), (I1) 9= (IV)
(B) (II), (III) €< (V)
(C) (D, (1) @R (V)
(D) (ID), (IIT) 9<% (IV)

9. ©IfeE-I-a3F AL ©fFTH-I (WA G3%
e @rest (@ AT Teq F4a

P
©Ifermr-1 Oiferer-Il
(a) coAfe 9 () T @G A
(b) FIEER Amfe (i) =BG (NG FA! AT
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(©) i) (1) (@Gv) (i)
D) @ () i) (@v)
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10. Whichofthe following testitems are related
to endurance?

(I) Harvard step test
(IT) Conconi test
(IITI) Quick feet test
(IV) Bruce treadmill test
Codes:
(A) (D and (II) only
(B) (II) and (III) only
(C) (I), (II) and (IV) only
(D) (1), (IV) and (I) only

11. The Olympic Games boycotted due
to political compulsion were held at
which of the following venues?

(I) Berlin
(I) Montreal

(ITIT) Moscow

(IV) Rome

Codes:
(A) (II) and (III)
(B) (III) and (IV)
(C) (IV) and (I)
(D) (D) and (III)

12. Which year the refugee Olympic team was
introduced?
(A) Sochi, 2014
(B) London, 2012
(C) Rio, 2016
(D) Vancouver, 2010

10. fFsfafe oSrer SiRGTelE S @W
@Il FRETeR AL T ?
() ZSTE @Bt A
(I) Ffel AT
(IIl) % AR 218!
(AV) T Geie A9
(T S
(A) @eTg (1) @3k (1D)
(B) &<eTig (1) @<k (I11)
(C) @eg (1), (II) €3 (IV)
(D) @&l (I1D), (IV) 9=k (1)

11. ST AGALTOIT FIACE 6 F4
Sl (oIS TR (Bl BT S0 2Cafest 2
(1) et
(I1) wfet
(III) =tc=
aIv) @™
(PIG 8
(A) (I) @<k (III)
(B) II) @< (IV)
O avV)«axk (D)
(D) (I) @< (IID)

12. (9 T2 Talg SIfHAf~513 7o Bie] 321 2fee 2
(A) @15, 2014
(B) &%, 2012
(C) fe, 2016
(D) ©IFeld, 2010



13. Who gave the definition of ‘Play as
consisting of responses repeated purely for
functional pleasure’?
(A) Guthrie
(B) Jean Piaget
(C) Karl Lewin
(D) Bettelheim

14. In which year Fit India Movement was
started?

(A) August, 2019
(B) March, 2020
(C) August, 2020
(D) September, 2019

15. Which one of the following is not
included in women’s Heptathlon?

(A) 100 mt Hurdle

(B) Hammer throw

(C) Shot put

(D) Javelin throw

16. Whatis the name of the 2024 Paris Summer
Olympic’s official mascot?
(A) Miraitowa
(B) Olympic Phryge
(C) Someity
(D) Perry

17. Firstnation to host ‘Special Olympics’ was
(A) USA
(B) England
(C) India
(D) Germany
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13. ‘IR WG G Remei saagied
Afsfera e cLe’-9a ket & e 2
(A) e
(B) fer forzieals
(C) Il (FT2w
(D) (AGECREN

14. Fit 3G SN F© AE 9F 23 2
(A) =935, 2019
(B) W5, 2020
(C) =N9%, 2020
(D) GIC*6%4, 2019

15. N3 @A TRAWR @B TGS 7372
(A) 100 mt ZE
(B) == e
(C) Collers el
(D) =fi Fewet

16. 2024 =i SR SfE~=5-aq S
SR I FH 2
(A) f=iEGe
(B) wIff~I% fFer
(C) G
(D) oIf7

17. ‘ReoE ST SiEee 2w o 2
(A) SR
(B) 2&Te
(C) o
(D) &t
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18. Identify the correct sequence of the first
four hosting nations of Asian Games:

(I) Indonesia
(IT) Japan
(IIT) Philippines
(IV) China
(V) India
Codes:
(A) D), (IV), (I) and (1)
(B) (V), (1), (II) and (I)
(©) (V), (1V), (III) and (II)
(D) (II), (V), (I) and (III)

19. Which Philosophy teaches us that “We
must take responsibility for deciding
who we are”?

(A) Existentialism
(B) Humanism
(C) Naturalism
(D) Idealism

20. Turnverein movement was started by

(A) Friedrich Ludwig Jahn
(B) William James

(C) Per Henrick Ling

(D) Franz Nachtegall

21. Afterexercising for 5 minutesonthe
Harvard Step Test, if one’s total pulse count has
gone up to 250, then his/her fitness index will be
(A) 60
(B) 70
©) 75
(D) 55

X-8

18. A (N 29w R WEEE @
3% &% e a5 ¢

(1) ErwimR
(I1) S
(IIT) ffersiizs
(Iv) 5=
(V) ©e
T
(A) (1), AV), (I) @3 (1II)
(B) (V), (I1I), (II) @3 (1)
(C) (V), (IV), (III) €% (II)
(D) (ID), (V), (I) &= (1II)

19. & W SMEWE R @, SN & of
Rfaeera wiftrg S e 2@
(A) SIfETam
(B) Ww<reIAm
(©) a3feam
(D) Simfam

20. SIS SioRe T B % FAfRE 2
(A) T TTefGsl Tl
(B) TR (e
(O IIERCTIEEREN
(D) g 54N

21. SIS oot (G536 5 WG T s #i I
(@I fea (B #AleT™ Fes 250 2@ A, ©Ece ©ig

RFOE BT 2@
(A) 60
(B) 70
(C) 75
(D) 55



22. Which of the following types of cartilage is
present at the joints of long bone in human?

(A) Fibrous
(B) Hyaline
(C) Elastic

(D) Calcified

23. What is the function of Coronary Artery?

(A) Brings deoxygenated blood to lung

(B) Brings oxygenated blood to heart and
lung

(C) Brings deoxygenated blood to heart
(D) Supplies oxygenated blood to heart

24. Find the correct sequence from the
code given below:

(I) Effect process
(IT) Action of the concern muscle
(III) Forming the movement programme
(IV) Execution of movement starts
(V) Afference process
Codes:
(A) (D), d1II), D), (V) and (IV)
(B) (11D, (I), (Il), AV) and (V)
(C) (D), (1I), (IV), (V) and (I)
(D) (ID), (1), (IV), (V) and (I)

25. What is the site of Gluconeogenesis?
(A) Liver
(B) Blood
(C) Muscle
(D) Spleen

X-9 20

22. SIHF (@I 4RACETE SR RS o171 20T
IPARCS 2AF?
(A) veI&
(B) QAT
(C) =hos
(D) FhiRe

23. FENIET =T FE 2

(A) TAFET I ARERE I @ S

(B) Tty @R AT ARERE 1@
@ =i

(C) =iy I SHege a@ HE =T
(D) TePIte JRERE I THRQ1E I

24. A FIC (AT AT @5 4 2
(1) @< A
(1) Tzt R
(1) sifsfafa w616 st
(IV) e & 27
(V) & sfe
T
(A) (D), (IID), (IT), (V) €= (IV)
(B) (1), (I), (II), (IV) €= (V)
(C) (1), (IIT), (IV), (V) €& (I)
(D) (IID), (1), (IV), (V) @& (I)

25, rEReraEh™ (IR 232

(A) IF©
(B) 7%

(C) o=
(D) fa=
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26. Which of the following is not an amino
acid?
(A) Tryptophan
(B) Leucin
(C) Threonine
(D) Palmitic acid

27. Arrange the following in correct sequence
as per step in impulse transmission:

(I) Action potential
(IT) Repolarisation
(III) Hyperpolarisation
(IV) Refractory period
Codes:
(A) (I), (1), (IIT) and (IV)
(B) (D), (I, (IT) and (IV)
(C) D, (1), (I) and (IV)
(D) (AV), d1D), (IT) and (1)

28. Considerthe following statements and select
the correct option:

(I) A motor unit is composed of motor neuron
and slow oxidative fibers.

(Il) A motor unit is composed of slow twitch
and fast twitch muscle fibers.

(III) A motor unit consists of a motor
neuron and the muscle fibers innervatesiit.

(IV) A motor unit is composed of SO,
FOG or FG muscle fibers.

Codes:
(A) (I) and (II)
(B) (I) and (III)
(C) (II) and (IV)
(D) (III) and (IV)

X-10

26. A @G SR Shitte 37

(A) TowrREH
(B) ferefm

(C) faefam

(D) =l =Hifre

27. T FERMER it SR A
TP FRfewE e ¢

(1) = 7By
(1) SGRERe
(Ill) e GReFas
(IV) =W
(T
(A) (D), (I), (IIT) €= (IV)
(B) (D), (IID), (II) @3% (IV)
(C) (ID), (IID), (I) @3% (IV)
(D) (1V), (I1D), (II) <& (1)

o e S e

28. fsferiie yfe @l s @
Fo em NiDa e

() 936 @F7 9 @oa FoEe 9 &9
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7 sifde |
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(PTG 3
(A) (D@D
B) @) @R 1)
(©) (I) @R (IV)
(D) {II) @R (IV)
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29. During anaerobic glycolysis which one is
the first enzyme for this energy pathway?
(A) Phosphofructokinase
(B) Hexokinase
(C) Lipase
(D) Creatine kinase

30. How many respiratory centers are there in
the brain?
(A) One
(B) Two
(C) Three
(D) Four

31. Angular Motion is represented by which of
the following?

(I) The knees of a cyclist
(IT) The leg of a runner
(III) The arm of a swimmer
Codes:
(A) (I) and (III) only
(B) (III) and (II) only
(C) (D) and (II) only
(D) (1), (I) and (III)

32. Which of the following is not a quantity of
linear kinematics?
(A) Displacement
(B) Velocity
(C) Acceleration

(D) Angular velocity

X-11 20

29, SRS APEABPIER TR (@0 92 =&
AT AT G2 ?
(A) TACHIGBPIZCETE
(B) RIS
(C) =iiEeete
(D) T sime

30. RS AL 2P (" A ?
(A) @3

(B) 7o

(C) foald

(D) R

31. @I sife Nwa @=ha o= 2fefiag F=i

2 ?
(I) e B 25
(II) e (eRma =i
(IIl) AfoiET e
(T3

(A) TG (1) @R (IID)
(B) (F<eTIg (111) @< (ID)
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(D) (D), (I) @3 (I1T)

32. Tisa @I @R sl sifqste 772
(A) e
(B) @i
(C) w94
(D) FfaF @l
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33. Body posture is maintained by

(A) Cerebrum
(B) Cerebellum
(C) Medulla oblongata
(D) Spinal cord

34. Theupward force experienced by an object
immersed partially or fully in a fluid is called

(A) Magnetic force
(B) Frictional force
(C) Buoyant force
(D) Gravitational force

35. Whenatotal force acts on an object,
the object will be accelerated in the
direction of the force with acceleration
proportional to

(A) the force on the object.

(B) the velocity of the object.

(C) the mass of the object.

(D) the inertia of the object.

36. Angular displacement is very close due to

(A) Angular kinetics

(B) Linear kinematics

(C) Angular kinematics
(D) Linear kinetic

37. The correct racing posture of a swimmer a
cyclist or a downhill skier minimises the effect of
(A) Lift
(B) Propulsion
(C) Gravity
(D) Turbulence

X-12

33. 9 B WSIER ot e AR 2
(A) Ifz@
(B) (&=
(C) GIEeT SIeTRANG!
(D) THIwIS

34, SRR ATl e fwfess
(I TEF B S GHYA T AT

(A) CBIF<F =1
(B) we&fe 9
(C) 2R 7=
(D) TR &

35. 94 @ AT I G0 TEF T IS
J(E O TGOT GACER A A AT
BGERECACRIPICERE]

(A) TEF ToF &
(B) w4 @9

(C) %7 ©x

(D) <TES Gley

36. @ TpTe 47 IR, ©F FF9 25
(A) @l PREATF
(B) @RS SRS
(C) (Ffers FREAETR
(D) @RT IRETS

37. GG HIORE, ARFIG A TR RRIE
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(A) SraE
(B) #ifam
(C) ey
(D) Sl 7]
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38. The height and time of the flight of a
projectile based only on
(A) Horizontal velocity
(B) Initial vertical velocity
(C) Angle of release
(D) Power of thrust

39. Sideways bending of trunk is an example of
movement in
(A) Frontal plane and Sagittal axis
(B) Sagittal plane and Frontal axis
(C) Frontal plane and Vertical axis
(D) Sagittal plane and Lateral axis

40. SI unit of Force is
(A) kgm/s

(B) Newton

(C) Dyne

(D) Jule

41. Whichelectrolyte is most crucial formuscle
contraction?
(A) Sodium
(B) Potassium
(C) Calcium
(D) Chloride

42. Achievement motivation relates to

(A) need of the person.

(B) knowledge of the person.
(C) experience of the person.
(D) aptitude of the person.

38. @I aAfFe Toodd THO IR M LG
IR GRIGACEE
(A) Sghre (391
(B) l2fi Targ @9
(C) Ifea el
(D) % *If&

39. (e PR o [Roeiea a3
Tzl

(A) TILEH @R AR ToTg o

(B) I Tegest @R YL oF

(C) Yo 38 THY OFF

(D) “ArEifa Serges @R AR oF

40. &3 I ARSCS I GFF R 2
(A) kgm/s
(B) o
(C) TiEw
(D) &

41. (I ZETFHNRD (N FIHEER CFa TS
NERLRE:
(A) GG
(B) =i
(C) TR
(D) FHIRS

42. FForea (ol T AR TAFe
(A) TG e
(B) JIf&x i
(C) Jfex sfewel
(D) & @isrel
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43. Which is not a psychological symptom of
anxiety?
(A) A sense of dread
(B) Nausea
(C) Difficulty in concentration
(D) Irritability

44. When learning a new motor action impacts
the performance of a previously learned action itis
known as

(A) Proactive transfer
(B) Positive transfer
(C) Negative transfer
(D) Retroactive transfer

45. Which is not a total relaxation
strategy?

(A) Imagery relaxation

(B) Diaphragmic breathing

(C) Self-directed relaxation

(D) Psych-up breathing

46. Which of the following is an intention of
hostile aggression?
(A) Goalis to lose
(B) Intent to harm
(C) Express no anger
(D) Intent not to harm

47. Who proposed the reinforcement theory of
motivation?
(A) Sigmund Freud
(B) Skinner
(C) Maslow
(D) Ivan Pavlov

43. (F0 Tralod AP a7 7372
(A) @ wgfs
(B) I 3f ©1
(C) TGS ST
(D) f5af&

44, U @6 T o Tz oo, o
12l fFae el 2elfe e, oL
«fos a7 =@
(A) AT g=ea
(B) o5 Bes
(C) FfSasF BT
(D) 27T Zea

45. @G NG MifeEe (@Fie 7772
(A) Tog ez
(B) TR W™
(C) F-frire Mifdereae
(D) ZF-Siol Y2

46. 5T @G (@R SNAGTET Sy 2
(A) =7 QI
(B) “Fea1q Sy
(C) ot 2 1 4l
(D) s 7l FIF Sy

47. (27 *fegfa ©red 2T (& farsa 2
(A) Biorye FEe
(B) &=
(C) T
(D) T@IF (T



48. Which of the following is not an useful
outcome of positive self-talk?
(A) Deflates confidence
(B) Hightens focus
(C) Alliviates stress

(D) Appraises problems as an
opportunity

49. Which somatic anxiety reduction technique
involves tensing and relaxing specific muscle
groups?

(A) Hypnosis

(B) Autogenic relaxation
(C) Progressive relaxation
(D) Imagery technique

50. According to Robert S. Weinberg
goals can be categorized as

(I) Success goals
(IT) Outcome goals
(III) Performance goals
(IV) Process goals
Codes:
(A) (I) and (III) only
(B) (D), (I) and (IIT) only
(C) (II) and (ITI) only
(D) (ID), (IIT) and (IV) only

51. “Preparation for future adult activities”
theory of play was advanced by
(A) Karl Gross
(B) Stanley Hall
(C) McDougall
(D) Patrick

X-15 20

48. oA @G 2eADF F-FAAFUET GF0
JAFT TAITS 77?2
(A) S 9% e
(B) CPIIT ORI
(C) O Biol 17 I
(D) GG 1ol &AM P01 ETREA ¢

49. @ 2olf0e e gt (FE Wi
R (MBI B @R MifReTsae 1 wie 2
(A) >TC=Ies
(B) SIGItaie ifeeaae
(C) esifeHie fifeermae
(D) foaRfer @F=ie1

50. 2 7. SR oo TR @i

341 (@S AFT—
(I) SAFeT o7
(1) TP 75
(IlI) FFFTo! 75
(IV) e o
(T3

(A) By (I) 9=k (11D

(B) @ (1), (I) @<k (1I0)
(C) wgarig (1) @< (11D)

(D) Bga@ (1), (1) 9=k (IV)

51. 4TS T SRS AdReE [T
Ty e, T Tl Aol s

(A) I o
(B) Grefet 28
(C) WIFCTISNE
(D) ~iG=
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52. As per NEP 2020, which of the following
organisations has been tasked the developing the
Audit Educator Framework?

(A) NCTE
(B) NCERT
(C) MHRD
(D) NIEPA

53. According to NEP 2020, what is the full
form of ECCE?

(A) Education of a Caring Child in
Elementary class

(B) Elementary Classes of Child
Education

(C) Educational Classes for Caring Early
children

(D) Early Child Care and Education

54. Who viewed that the child repeats
his hereditary characteristics in play?
(A) Spencer
(B) Stanley Hall
(C) Patrick
(D) McDougall

55. Continuous comprehensive evaluation in
School Education was started by
(A) CBSE
(B) UGC
(C) SCERT
(D) IGNOU

56. Which is not an essential factor while
designing the syllabus?
(A) Teaching method
(B) Needs of the students
(C) Objectives of education
(D) Nature of the course

52. @39 2020 SRS, NET @@ ORI
TE ACR6Y (FNEF (ofid nifg (e 2R ?
(A) NCTE/4=553%
(B) NCERT/4+fz=4
(C) MHRD/¢S42591141%
(D) NIEPA/<Tei23{#q

53. @13 f5 2020 S, 2 1 1393
UREREE
(A) 2l fdce Tgae Rroeg
(B) fie Fmem el F
(C) 2REs Mema I0ea e 2= F
(D) iafiFEea e Tg a3 frm

54. & AR @ Mie (AEF T O ARH9NS
ARgrafE Jmale 32

(A) Ca
(B) oyiafer ze
(©) il
(D) SUIFgale

55. 1 PR QEIRITRS T R 9T —
(A) CBSE/fifagsg
(B) UGC/zTfE™
(C) SCERT/«xf@enaft
(D) IGNOU/3s(T

56. P foaiza s T @G S
= 772

(A) W simfs
(B) Frfitra dces
(C) g S
(D) @of agfe
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57. The most important indicator of the quality
of education in a school is
(A) school infrastructure
(B) classroom system

(C) textbooks and teaching learning
materials

(D) achievement level of students

58. Curriculum effectiveness is determined by

(A) Community cooperation
(B) Teacher competence
(C) Student interest

(D) Quality of supervision

59. Developmentofalearnerislinkedto

(A) Effective development
(B) Cognitive development
(C) Psychomotor development
(D) Sensorimotor development

60. Somatotype refers to

(A) aperson’s body composition

(B) the assessment of cardiovascular
fitness

(C) the evaluation of psychological
variables

(D) aperson’s body type and shape

61. Which of the following is considered as
developmental reading disorder?
(A) Dyscalculia
(B) Dyskinetic
(C) Ataxia
(D) Dyslexia

57. «3f5 et PR R T_GE sFgo)l o
Egl

(A) T SR

(B) cefle gl

(C) 2NTTT @R Térmel (<1Ig Goreael
(D) frRidiore Ffecea v

58. S IS M@ Tt Tm—
(A) TRMIET AR
(B) frecaa @isrel
(GRACERLEY
(D) SERHITT SO

59. e FERSE e 7 A IE
(A) IR T
(B) @i el
(C) MBI R
(D) CEREIGR m

60. GTIGIHRA @RI
(A) @3 TG AEF o
(B) FICeOHFaR oG oz
(C) TG (CREIET TR
(D) @Fee ATGF *NEI 4= GR SFho

61. SIG3 @0 THTTES owR i @
o =2
(A) ol
(B) TorwREDT
(C) Gl
(D) foceTor
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62. Match the following diseases with their
respective causative factors:
List-1

(Diseases)
(a) Diarrhoea
(b) Swine flue
(¢) Tuberculosis (i11) Parasite
(d) Diabetes (iv) Virus
Choose the correct option from the codes
given below:

(@ b (© (@
(A) i) @Gv) (@) @)
B) Gv) @) @ (D)
© O Gv) @) (i)
(D) G G Gv) (@)

List-11
(Causative factor)
(1) Bacteria
(i1) Geneticdisorder

63. What does MERS stand for?
(A) MiddleEastRespiratory Syndrome
(B) Mild Exigent Respiratory
Syndrome
(C) Mild Elevated Respiratory
Syndrome
(D) Moderate Emergent Respiratory
Syndrome
64. The immune system comprises of
(A) humoral and fibrous systems
(B) humoral and cell-mediated systems
(C) antigens
(D) lymphocytes and nerve cells

65. Match the following:
List-1
(Disease)

List-11
(Incubation Period)
(a) Bubonic plague (i) 3-6 days
(b) Tetanus (i) 45-180 days
(c) Yellow fever (iii) 2-7 days
(d) Hepatitis B (iv) 6-10 days
Codes:
@ b © @
(A) (Gv) (i) G) (@)
B) () @ G (@Gv)
© i) @Gv) @G (i)
D) () G (i) (v)

62. f=ferfie @isfrs oime e e affes

BT A Tl 8

©Ifermr- ©iferer-Il
(cen) (ffesans Sesivs)
(a) it (i) LR
(b) G (i) Ao Wi
(c) T (i) A&
(d) SRIEDA (iv) sizam
T @ (A AT [mt @z 7 ¢

@ » (© (@
(A) (i) @Gv) @) (1)
B) Gv) Gi) @ G
© @G @av) (@) (i)
(D) @iy (@) @[dv) (@)
63. MERS (<1 17
(A) s 335 @@fIE6R Proge
(B) WiEew Gl Heers (@i Pregw
(C) WiTT® oo @R PR
(D) OIEG GRS ARG PG

64. 3T HEoy oifde Tw—
(A) ReEEE @3 Fia™ I8!
(B) RSN @R (-4l 57
(C) wHifGrem
(D) TCHMIZE @R IR

65. o3 AN T ¢

©Iferer-1 ©Iferer-1
(cen) (RS )
(a) I caiol (i) 3-6 =
(b) TGa™ (ii) 45-180 fue
(c) =M gd (iii) 2-7 fa=
(d) AGERGA (iv) 6-10 e
(PSS

(@ (b () (@
(A)  Gv) (@)  G) @)
B) @ @ (@) (Gv)
© @) Gv) @ 3D
D) @ aG) () Gv)
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66. Hypochondria is also termed as 66. BTG o7 (@ T Tfoles T &2
(A) Health anxiety (A) =% Tzl
(B) Sleep apnea (B) fawiZTel
(C) Hypnagogia (C) feomaifert
(D) Narcolepsy (D) TR
67. Which form of Hepatitis is also known as 67. ARG E @W wH AW
Sernum Hepatitis? @AGRHA e Afbe?
(A) Hepatitis D (A) @GRGAD
(B) Hepatitis B (B) ==Ii5i2f51 B
(C) Hepatitis A (C) @ATERTT A
(D) Hepatitis E (D) @AGERGH E
68. Which disease is also known as 68. TR e 2IfD® (F ol 2
lockjaw? (A) TEATOR
(A) Rabies (B) oGa™
(B) Tetanus (©) @
(C) Leprosy (D) 2™
(D) Measles
69. Which of the following statements about 69. TRugleTFrE) #/fFsml T=IcS Teoa e Rfs
the school health programme is false? e e
(A) Improving the health (A) R Tafe
(B) Record keeping for health (B) 2R &) (S A4l
(C) Career guidance (C) (& Fertaias
(D) Hygiene (D) =R
70. Atrainingloadthatishigherthan the athletes 70. @ AREF il A Gz TR
typical training load is known as AT Bt R @ ©IcE T =1
(A) adetraining load (A) G0 T 2R Biof
(B) aretaining load (B) @ =i aifermel Giof
(C) aovertraining load (C) @3 wifsfie el pisi
(D) astimulating load (D) &6 Trews bivf
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71. Adaptation to training load at high altitudes
is known as
(A) Thermoregulation
(B) Super Compensation
(C) Acclimatization
(D) Habitual

72. Stretch-Shortening cycle of exercises means

(A) Flexibility exercises
(B) Isometric exercises
(C) Plyometric exercises
(D) Aerobic exercises

73. Temporal relationship between load
and recovery phase is called as
(A) Intensity

(B) Overload

(C) Specificity

(D) Density

74. A cessation of training means
(A) Retraining
(B) Detraining
(C) Super Compensation
(D) Acclimatization

75. Pairing exercises in weight training sets is
known as
(A) Pyramid set
(B) Straight set
(C) Super set
(D) Giant set

X-20

71. T T Al Bist @ Sfecare 2
Al 29—
(A) il e
(B) wifsfie ooz
(C) SrereFae
(D) STEI91®

72. ARG PRS- AL b
(A) TN A

(B) SGAIGS TR

(C) ZARSHGT TR

(D) AT g

73. Biol @R ERIET oK@ Ay S
FRFCE T
(A) SIFel
(B) wIfsfa& bivf
(C) fafree
(D) =g

74, 2R IF S
(A) o= effere
(B) IS lferwel
(C) fsfzre ozl
(D) wrersFRel

75. G Al (15— (Se! R 27 Ao
(A) PRI @
(B) @rel (16
(C) oI O
(D) 2= 16



76. The capacity to effect movement by
contraction of those muscles which naturally cause
the movement is

(A) Dynamic mobility
(B) Passive mobility

(C) Eccentric contraction
(D) Active mobility

77. The quality of work per unit of time is
known as
(A) Frequency
(B) Intensity
(C) Volume
(D) Density

78. In sports training short-term
overloading is often classified as
(A) Linear loading

(B) Flat loading

(C) Concentrated loading

(D) Conjugated loading

79. The changes that occur during exercise is
known as
(A) Immediate effects
(B) Residual effects
(C) Acute effects
(D) Partial effects

80. Which of the following is a non-probability
sampling technique?
(A) Cluster sampling
(B) Snowball sampling
(C) Simple random sampling
(D) Stratified sampling
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76. @i FeRTez Tobel R Grafla
BT T ST 2@l F17 ool 2&
(A) oifeH sifeeTel
(B) fafgw sfedfierel
(C) FEI=PT! TP
(D) &R sifeSere!

77. ¢ MR I O A BAE
sifzfbo—

(A) T T2 AR
(B) Sl

(C) wTes

(D) =g

78. Frol ffrwel mEE eSRER AT @
I fos Fat @
(A) @RS @feR
(B) aroeT (#IfE]
(C) =Igs @t
(D) KIfere (@ifes

79. FRIGH 71 @ Aok 96 o @ e
SIEIES]

(A) SICHEF e
(B) S&MF 2feld
(C) OF 2ol

(D) =i 2o

80. T @0 ST-ASRTS! Fy=AfeTe (FeieT 2
(A) FPOIR T
(B) (NIt T3
(C) F1Z& AT |

(D) HITFIEG T
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81. Which sampling is considered as the
weakest of all sampling methods?

(A) Stratified sampling

(B) Simple random sampling
(C) Cluster sampling

(D) Convenience sampling

82. Which of the following is an example of a
Search engine?

(A) Internet Explorer
(B) Mozilla Firefox
(C) Opera

(D) Bing

83. Parametric and nonparametric analysis
commonly share the following:

(A) Testing of null hypothesis only

(B) Chain of reasoning based on
inferential statistics

(C) Statistics as means and frequencies
(D) Ordinal and interval scale data

84. Which of the following statistical
tests is used to compare observed results with
expected results?

(A) ANCOVA
(B) ANOVA

(C) Chi-square test
(D) t-test

X-22

81. (I TG HANE T AT N2 GO
IEICRE(SIDIE IR E:
(A) FIFES T
(B) 12& TN Tl
(C) FPER LTI
(D) FCSAE™ «J=T

82. T @Il A Bt Swizzel 2
(A) TORCIG GHARE
(B) Giferetl R
(C) =sal
(D) T

83. “IAIGF 93 NG [T Maers
xfafes sio 5 ¢
(A) S = SIS AT
(B) ST #Ifmiceiics Soie fofe

(C) 1% IR It 2l oifeorze
(D) s 3R THITOE (e (6!

84. MBI @ AR AT Fente

TFAITER AL AL S T Qo FACS IS
T2

(A) SIS

(B) STe!

(C) Biz-=a= 2%
(D) & -ofar
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85. Which of the following statements are true?

() A good measure of dispersion is
not duly affected by extreme
observations.

(I) Standard deviation incorporate the
effect of extreme values thus
makeup it most reliable measure of
dispersion.

(II) Coefficient of determination (R?)is
always positive and less than one.

(IV) Non-parametric tests donotrequire
a distribution to make respective
assumptions about shape of
population distribution.

Codes:
(A) (I), (1II) and (IV) only
(B) {I), V) and (I) only
(C) (IV) and (I) only
(D) (III) and (IV) only

86. Which server protects web servers
from attacks and can provide
performance and reliability benefits?

(A) Closed proxy

(B) Open proxy

(C) Reverse proxy

(D) Both (A) and (B)

87. Which of the following data-collection
technique is not used in case study?
(A) Measurement
(B) Interview
(C) Personality inventory
(D) Observation

88. One-way and Two-way analysis
processes are calculated not only with statistics
called variance, but also

(A) Chi-square Test

(B) Fisher Exact Test

(C) Wilcoxon Signed Rank Test
(D) Mann-Whitney U-Test

85. fasffis Refoufrm @@ o2
(1) fvgacm «Fh Sfe sifass saw
ALEF 7 IARLSNE AeIfTe
aql
(IT) >57rS fRprfs vam TRefers goRes

TRYE FE GFOIE@ G «ft
PR AR ST A1 |
(I11) (F-QR=FPIES % OB (R?)
A7 BB AR G (BT N |
(IV) TI-AAN G AT Sl G2
IHEF SR TS FRET Sgiie
319 G f[Foqeed e 23 = |

(A) @< (D), (III) 9% (IV)
(B) &a (1I), (IV) €% (1)
(C) @& (IV) @& (I)
(D) &= (III) @3 (IV)
86. (I ASIT ST ASE ST (A T
IR AR FETS] @R TSIl AR Al FAS
AN 2

(A) 35 &

(B) (4IeTl &fs

(C) f=ide afy

(D) (A) 9k (B) Te33

87. &1 Ifere NEI @ SL-TRAZ FIHEA
(RS A1 = )2
(A) sfasef
(B) ArFIeHI
(C) IfETed I wiferml
(D) Rl

88. «A ¥R T R aifgaiafe wysig
AR LR teleTl F21 27 1 TS (SR Ie1!
=3, wi4Fg FeT AR
(A) vR== &
(B) fmiig @1E (536
(C) T/ 7TTT G35
(D) 9-225 28536
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89. A good review of the research literature
aims at
(A) subjective analysis of the content

(B) providing information about the
authors and their affiliation

(C) generating research questions and
validating those questions

(D) conducting multiple task based
screening
90. Who among the following management
stalwarts is known as the “Father of modern
management ideology”?

(A) Peter Drucker
(B) F. W. Taylor
(C) Henry Fayol
(D) T.T. Peterson

91. Organization means ‘planning the
work’ and ‘administration” means

(A) Controlling
(B) Decision-making
(C) Testing the plan

(D) Processing information

92. SPDA stands for

(A) Sports Policy of Development and
Administration

(B) Sports Project Development Area
(C) Sports Project of Delhi Area

(D) Sports Policy of Development
Association

93. Planning is one of the major, rather
primary, functions of management and
its scope extends to
(A) setting objectives and roadmap to
achieve them.
(B) spelling out strategies to generate
resources.
(C) eachandevery aspectof development
in an organization.
(D) recruiting personnel and professional
development.

89. Il Aif2rera Gis ©ieT #ACEIn o7y ZoT
(A) Raraes ReEwere Rese
(B) (14 Q38O AT Aol o 2ie

(C) sIta=ell 2l (ofd 31 @R 72 2ot
g 4l

(D) «3f4 o fefes fgfae siftme st

9(. fFfeTRCSIRF s TRl Tegma
S I SYF 7o SR S
BT
(A) For gt
(B) 9%. TG, (Gom
(ONETEREC]
(D) 5. 5. o5

91. SRS W Fed ATFE G2 S
AN

(A) frEel

(B) Paig oz

(C) “Afaal »I 5w T
(D) w2 Afgaieael

92. SPDA (¢ f3 f€ @) it

(A) TGl NS Tz 3R 2 A
(B) @Gl 255 THI G
(C) Frol a5 ffar et
(D) &rel Fifs Tage 7@

93, SfTFE TE ARTEATT A4, IR AT,
Ffefer e 3 w3k @3 Aff T e fge—
(A) &7 fdiae @R Erasfet Srei s e
@Gt

(B) ™% ot a1 (Fmesfel kv

[T B0
(C) ¢ 2feDieTa Samg 2fel e
(D) I&® @R (oMmIR Serze felclol
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94. Blue print of the competition plan is called
(A) Technique
(B) Tactics
(C) Strategy
(D) Skill

95. Aleader must possess the following except

(A) Missionary zeal
(B) Commitment
(C) Pursuasiveness
(D) Selfishness

96. In school setting the major channel
of publicity for the Physical Education
programmes is
(A) Teachers

(B) Students

(C) Advertisement

(D) Intramurals

97. Which of the following factorsis considered
to be most important in the construction of Indoor
Gymnasium?

(A) Direction
(B) Light

(C) Ventilation
(D) Floor

98. The Shannon and Weaver model of
communication is
(A) Circular
(B) Linear
(C) Modular
(D) Non-linear

94, effswifrom “fRwseR g (2% o1 27—
(A) G
(B) Hiifg
(C) FofE
(D) wweol

95, 4G« (WolF W fHfeTROwfk
TS S 2
(A) i Smel

(B) SR

(C) 2B

(D) Ffore!

96. FC #NFRE Bl FILEFER oo 261 24w
o 2

(A) Frs
(B) =g
(C) f==iom
(D) BT ST THEe FHaw

97. 3cerd femeabrm it Siva @E
RSl ABE wFgd 0@ T 5 2

(A) o
(B) SeeTl

(C) <IgoeTivet
(D) &

98. NI *Jae QR SROIF Ao 6]
(A) JeFIF
(B) &A=

(C) el
(D) SARF
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99. Which one is the appropriate approach of
management that states the art of getting things
done through people?

(A) Classical

(B) Neo-classical

(C) Modern integrational
(D) Functional

100. Match List-1and List-Il and select the correct
option from the codes given below:

List-1 List-11
(a) Theory of Competence (i) Fritz Heider
(b) Theory of Aggression (ii) Sigmund Freud

(¢c) Theory of Neurotic
Conflict

(d) Attribution
Theory
Codes:
@ b © @@
(A) (i) G @ (@v)
B) @G @dv) @Gi) @3
© O Gy @) @Gv)
D) Gv) (@Gi) G @)

(i11) Konard Lorenz

(iv) Robert White

99, @FEH TIFPT ToTE “wfe A IE @
SRR NG Terferies et s7oig Fa17 ¥1a1 251 Ar<giol 2

(A) ol

(B) y-geofil
(C) =y faslel
(D) FEF

100. - €32 @Il e FFa @R Tod
e (2 A [eal Fdvg T ¢

©Iferer-1 eIl
(a) TSI oG (i) o 22T
(b) ST ©g (ii) ProTe TR
(c) e arag o8 (iil) @F=C AE@G
(d) =nEREA vg (iv) =46 (2iEs
TGS

(@ () (¢) (d
(A) i) () @) (Gv)
(B) () (v) (i) @)
© @ @) @) (@Gv)
(D) Gv) @i (i) ()
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